To  Ho: sk wa B . Bp M < iy
Hi: BBaRARe. BF 4> M

X =51 X.=2 L S0 _ % 418

xl ' xl 275 F 52; - 553— 38‘15 "28
$5,= §lo-520.2= 49.8

ss, = 213~ 1405 = 3895

a S;."‘SS} ‘?‘7\8+38<95 .

5% = df,+df; = TlHeig =2

X=X -
57‘-72 = Sf = 043 t=—— =448
T S5

Terit = 2-429 v 2 Tait.

S qBsk He. A B8R 23530 FROM

T3, Hoz Mi=p2
Ho= 3 M2
Y2 70T X2 304
§S,= 3693 Ss,=27: 71

g = it _ 30BN, 4

df, tdfa 13413

1 %
5%‘,-7,: —i-r—s-g-: 0-23 t= %-;«: |5-12
h—h

Terig = 2-056 ~& € >terip

Slz SS: -
F Sz $$a 1‘33

. JEIBHo. AnRILEEF



A E T YN o AN .
T“f- $;;-]L. 4B . 48 P HD ii‘ﬁ
A E 18 -3 . %
B 12 14 -2 H:AE%
B 16 12 4
D 9 11 -2
E 13 14 -l
F 16 16 ]
G 17 16 )
z -0-43
2 D .
Ssp=E b - QZ/NL* = 3370
sSp_ - _ _I=e -
Sp = —f-:snez S —J:;: 0.90
t= D _ =043 = —0-48
% °-9
torie = 2-44] IT] < Terit. 3%% H.
(#=o0-.05)
T5 He ® £ i% 23R —
0)
H, - éi% ?»7"'@ SSP‘ Z\)z,- (—T
#oRk | Aiml [ M| D = 5143
A | 31 | 30 | . s
B | 34 | 31 | 3 50=—? 2851
C | 29 | 29 | -
D | 33 | 29 | U S5= |22 =)
E | 35 | 32 | 3 "
F | 32 | 34 | -2 229 -
G | 35 | 28| 1 t= =5 > 2-08
D = 2-29
b Terit= 2-4471
t<taiy, %% He



Te. (0«) H:ﬁ%z%iﬁ

His ﬁi%g_*&t
X 55, 150
2 Sm 150 .
F= 5P = ss, — 3¢ = -2
2_ 35,tSsy _ I3%tk50
SP - df tdf: = 4 + 4 = 35.9
- 2 2 PIEPR
5%-% = J%J,i”c; = 3—";—5«(%‘5 2311
=% -2
t= = = = 5.
Sz-x, 337 =0

terit = 2-3% (T) < Terit
S3EE H, ianrEEES

(b)  ho: 2B%2% h-HE%%E

2 SSP % .,l N ’ S
gD - ._;: =l SF- St - |L = 0,4_5
= D J”, [ S

terit= 2116 t 7 teit
S OIBIBHe il HHERZEF

©) FEa4438 346958 Ritaz 1325851, SHHRs @ 13 22 705)
S AT E B AL U AR WA A Lk R R





